Secondary Math 3

Name KL/V
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Final Review

Find the remainder.
1) (x3 +9x2+9x—7)+(x+2_) 2) (a® +2a° - 40a + ]7)+(a—5)

State if the factor is a root of the polynomial. If so, write as a product of two factors.

3) (6x% + 17x% + 13x + 6) = (x + 2) 4) (10%® + 100x? + 85x - 44) + (x + 9)
7 +
Gr2) (ox™+ Bx+3) Not o oo
State the possible rational zeros for each function.
5) f(x)=6x3+10x2+29x—11 6) f(x)=4x3—8x2+5x-1
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Werite a polynomial function of least degree with integral coefficients that has the given zeros.

7 4, 1, 1 8) -2i, -2-1i
4
£()= U - 19xF +\\x + 4 £ = e Yx® ¢ WP lbx v 20
9 -2 3:2v2 ' 10) 0, 1+2v2, 1-2v2
e

£0)= 5¢° - 28xE-Tx + L )= - 2¢-Tx
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Find all zeros.

1) fx) =52 + 6xF + x?

x= O molt. 7,

13) f(x)=2x" + x* - 6x

Simplify each and state the excluded values.

81x

15
) 81x?2

14) f(x) =5x* - 18x* - 8

164*

16
) 16a°
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5x* = 39x

% =0 9x + 27
Hx-4, x# b A L4z
x — .
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5x+3 5n* + 40n + 60
19) (x+6) ————— Sn x40+ B8 (2 L m—
) Sx — D=3 20) S5n+ 10 + (4 6n-7)
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Simplify each expression.
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Find the given information. Then graph the function.
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20)
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5h°2 —34b+24 2

h-4 4b

0L3 —6gb? +H49b -4

(p-6)(5h-4)

28) # of Discontinuities: Z,

Domain: X¥# -2, |

Vertical Asymptotes: ®= =2
Holes: (h - 5)

Horizontal Asymptotes: y=-= 3
x-intercepts: (-4 ‘o)

y-intercepts: (0, ~ b)

30) # of Discontinuities: 2.

-4-

Domain: X4 2-10
Vertical Asymptotes: X= 2

- A
Holes: (0‘ 1_)
Horizontal Asymptotes: \I: ‘
x-intercepts: (l,O)

y-intercepts: (C)' ‘::‘_)



2
x“+5x+4
33 x)=
) f( ) x“+2x-8
AV
TS
ERENERED EEREN
L 1 ]
L — ] K—— )
R S

A

,
i
&
s

(S STEP.d
R
Tl

|

=

State the domain and solve each rational equation.

k+6 _l_

35)

1
4k 4k 4

-5
V10 k=

32) # of Discontinuitics: L

34)

36) — +

X 3x x

Domain: X7 2,‘ -

Vertical Asymptotes: x= 2., X= - |
Holes: F\O!\L

Horizontal Asymptotes: \/—_ ]
x-intercepts: ("‘:03: (-*2.,0)

y-intercepts: (0‘ l{)

# of Discontinuities: 7
Domain: X < —‘-ll 2
Vertical Asymptotes: X = ya
Holes: (—-Hl ';;:>
Horizontal Asymptotes: Y= |
x-intercepts: C—]’ O)

y-intercepts: (0' '—-'2—:>

1 x+4_2x—6

X-‘.‘OJ x=5
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b#2, b= 5

39) =324 = 26 - 3
193 -296

Simplify.

a1) (3v3 + V5)(3v/3 +-4\fé)

Y7 41515
9-9+/3
43) - |
21 +937 -171R -9d6
1
4+\/§
45)9—(6

364430 + 495 « BT
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18) - Dt et
-6 3h-0 bh=2

b"z_’ bzo

40) 27 - 18 =32
-3J3 - bJZ

42) (=5 + 272)(=5+/5 + 34/2)

21 - 1300
5410 - V2
ag) 2107 X2
) —7+\/(:
~35J10 - 0B + 77 + 203
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549




Write the equation of the graph that meets each criteria:

47) Parent function: y = x* 48) Parent function: y = Vx
Rcﬂcc'tcd about the x axis. A vertical strctch-by a factor of 2.
A vertical compression by a factor of .5 A reflection across the x axis.
A vertical translation of 7 units up., A maritMiranslation of 2 units right,
A horizontal translation of 2 units left. hecizontel

’s
Y= =0.5(x+2Y + y=-2Jx-2
Write the equation of each function below:
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Find the inverse of each function.

_ 2 ‘ - )
513 7lo)= 2+216n 52) gln)=-n’+

4’-‘(‘\5: Z,(nﬂ)s ‘ 6“(1\3 =3-n+l

57 Flaim v 83 54) f(x)=5—%x
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Find the amount in each account given that it is compounded annually.

55) principal: $400
annual interest rate: 3.7%
time: 12 years

$p19.54

57) The valuc of a car decreases by 8% cach
year. If you purchased the car for $20,000,
what would the car be worth after 6 years?

$12.,127. 10

56) principal: $750
annual interest rate: 4.2%
time: 18 years

%|,572.8L

58) You have $650 that you can put into a
savings account that accrues 3.5% annual
interest. You want to save $1200. How
long will it take for your account to reach
this amount?

Abeut 13 yRos'S

Find the amount in a continuously compounded account for the given conditions.

59) principal: $2000
annual interest rate: 3.1%
time: 5 years

57_,'555.%

61) A student wants to save $10,000 for
college in 6 years. How much should be
put into an account that pays 4.2% annual
interest compounded continuously?

£7,712.45

Evaluate each expression.

63) log, 49

L

60) principal: $600
annual interest rate: 2.6%
time: 4.5 years

171441

62) A man wants to save 1 million dollars for
his retirement fun over a period of 35
years. If he makes no additional deposits,
how much should be put into an account
that pays 2.7% annual interest
compounded continuously?

3388 679.57



65) Ine 66) log,, 2

\ L

l.‘
Expand each logarithm.
67) log, (a*-b)’ 68) log, (z*Vx)
\5loq,a + Dl b L
9 los, Llg,2 + 7 log X
6\? e
69) log, (‘—) 70) log, =
¥ 4
- 4l e
24leq_ % oq.Y Zlaf)zx Y log, ¥
Solve each equation.
71) 6257 =125 | 72) 24377 2= 27"
Y\ZO = ——5—'
= 73
Solve each equation. Write final answers using log base 10.
73) 5% - 1=46 74) 20" -4 =34
11
Jog L \og 39
- K= losS - —25° . - g
.._%——- b= 1062'0
oc w1l
X" 5‘055

Find a positive and a negative coterminal angle for each given angle.

75) -18° 76) 15°
o (] e
242, - 318 375, -345
Find a coterminal angle between 0° and 360°.
77) -495° . 78) 370°
215 10°

0.



Find the measure of each angle.

79) } 80)

" -BM5 L o
-390
Find the exact value of each trigonometric function.
81) cos—150° =3 82) cos 300°
2 2
83) tan0° 84) tan -150° J3
3
85) tan 0 O 86) cos T
-1
. Sm n
87) Sin —6-* __L 88) Cos g _l_
YA 2
Find the area of each triangle to the nearest tenth,
89) T im Ky 90) H
74
7m
7.9 mi
R
K 74mi p
iy 8
37.0 m* 4.5 m
Find each measurement indicated. Round your answers to the nearest tenth.
91) Find m«B 92) Find mz 4
_ C
7 mi 30 mi
e 75° 5 54 km
35km
B 4
°
1.0

20.4°

-10-



3) Find mzB .
93) 94) Find mzsC

y A 2k
I'J % ‘4 m (w
f' 14 k
| ¢ 27 n B 21km "
B
v2.7°
Py o
o A

Graph each function using radians. Then state the domain and range.

1 , 1
95) y=5-cos46 96) y=—2—~sm46
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For each sequence, state if it is arithmetic, geometric, or neither,

33 3 3 3 9 9 3 9

gy 2 o L 2 100) =3, ==, =2, ==, ~=.

4 8 16 32 o4 5 2 7
Geometric Neither

101) 39, 42, 45, 48, 51, .. 13 7 1 5 11

) s 102) ===, -= -, 5, —

Acithaedic 979 9" 9

P\r'\'Hr\MQJ"lC—

Evaluate each series.
6
103) > (30 - &?) 29
kel

7

105) Z n(n - 2) %L‘

n=1

104) Y (40 - n) 219

106) i(zk2 -3) 45

Evaluate each arithmetic series described.

107) 11 +17+23+29.., n=13 108) 28+ 38 +48 +58..., n=15

bll 170

Evaluate each geometric series described.
109) =1 -3-9-27.., n=9
- 494l i = 8%

110) -3+6-12+24.., n=9

Determine if each geometric series converges or diverges. If it converges, find the sum.

111) 3 +9+27+81... 1 1

112) 5-1+=-—
‘Dim—gsvb

1 1 1
13 1-—+—-—..
2 4 8

1
Comergos,

Find the explicit formula.
115) 15, 5, -5, -15, ...
15-10(n-1)

117) -4, =20, =100, -500, ...

-y (s)n—l

-
Converges, =y~

114) 3-6+12-24..

D'N‘-"gﬂﬁ

116) 3, -197, =397, -597, ...
2,-200(a-1)

118) 2, -8, 32, -128, ...
n-1

2 (%)

w1 2=



